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TEMRIR O XRE 100kN/m’%##8 % 5 X 15 TEMRIR OO XRE 100kN/m2 %882 5 X 15
NDKRES| £FE |HOKES| £H% |NWOKRES| £FE |HOKES| £7% NDRES| £FE |NOKRES| £H% |NWOKRES| £FE |HOKES| £7%
DIb\RK| DFE |DIBFEK| OFE |DIBHEK| OFE |DI36HK| OFx DI>bmK| DFE |DIBFEK| OFE |DIBHEK| OFE |DI36HK| OFX
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(kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m)
1 ~ 2 - - 59.20 1.00 - - 14.12 2.64
2 ~ 3 - - 34.39 1.00 - - 14.12 2.64
3 ~ 4 - - 34.39 1.00 - - 14.66 2.74
4 ~ 5 - - 32.48 1.00 - - 15.93 2.98
5 ~ 6 - - 27.76 1.00 - - 15.93 2.98
6 ~ 7 - - 58.84 1.00 - - 14.39 2.69
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